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Which of the following words is in

the singular form?

(a) formulae (b) agend
o ZCnda AnSd
Fill in the blank: I could not mend the | (c) cases (d) radius [ !
(a)haditniended (b) had m ZptOp myself,1___atashop [Ans: a]
: ended re s:a
Change the voice- “Who planteq this tre: here? (c) did it mend (d) had mended
ere?”

(a) By whom the tree was planted here? [Ans: d]
(c) By whom was this tree planted here? (b) The tree was planted here by whom?

Change the speech- “I said, Do jt” ' (d) By whom had the tree been planted here?

(a) I said that it should be done. (b)1 saj [Ans: d]

. I'said t i . .
Translate into Bengali- But a mother’s | oo (¢) I'said that it is to be done. (d) I ordered to do it
@ WW er’s love endures through atl? [Ans: d]
NS SR T Sy . '
(b) &g 1 51 @R & AT
(0) g W™ R SR @ora e e
’ d ez

The correct proverb is- (@ g A W WO R o <

a) Sil i i - . _ [Ans: c]

( °) e ca},nta: (b) Silence is value (c) Silence is golden (d) Silence is meritorious
RUAG! I - ¢ ©I T T O O Ansib]
(a) All ar'e well that end well (b) All is well that ends well
(c) All will well that end well (d) All should well that end well

[SfS ail: 2058=S05¢] Set-A

My colleague said to me, “ Please lend me some money”. The indirect form of the sentence is— [Ans:a]
(a) My colleague requested me to lend him some money.

(b) My colleague said to me that I lend him some money.

(c) My Colleague said to me that I should lend him some mony.

(d) My colleague told me that I might lend him some mony

Choose the word which is opposite of the word "penalize" - [Ans: d]
(a) exhibit (b) observe (c) inherit (d) enlighten

Choose the word which is similar in meaning to the word "eguivocal"— | [Ans: d]
(a) valorous (b) obstacle (c) indolent (d) ambiguous

The correct autonym of the word 'ominous' is — . [Ans: b]
(a) auspicious (b) potent (c) unlucky (d) evil

Which of the following adjectives is incorrect? | [Ans: ¢]
(a) inefficient secretary (b) inaccurate answer (c) unloyal workers (d) disrespectful students

Friends and relatives of the — attended a special memorial servu.:e. [Ans: b]

d d (b) diseased (c) deasized (d) deceesed
(a) decease to lose her mental capacity. [Ans: b]

en able t0 determine when
(b) the woman began
s is the most use
(b) a dictionary
an apostrophe correctly?
(b) I wore€ Simons sock’s

The doctors have not be
(a) did the woman begin
Which of the following book
(a) an encyclopedia

Which of the following uses
(a) I wore Simons’ S0CKS

ful for widening your vocabulary?

(c) began the woman (d) the woman was begun

[Ans: b]
(d) a dictionary of quotations
‘ [Ans: d]
(c) I wore Simons socks’ (d) I wore Simon’s socks

(c) a thesaurus
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What is the noun of 'Accept' ? [Ans: )
(a) Acceptance (b) Acceptable (c) Accepting (d) Accepted
Which word is the opposite of 'Simple'? [Ans:c]
(a) confused (b) complicated (c) complex (d) confront
The best way to learn of foreign language is to: [Ans: b]
(a) read about it (b) practice using it (c) dream about it (d) think about it
At 8:45, how one would tell the time? [Ans: ¢]
(a) It is quarter before nine  (b) It is quarter before to nine (c) It is quarter to nine (d) It is quarter for nine
The author of Pride and Prejudice is— [Ans: ¢]
(a) Shakespeare (b) Thomas Hardy (c) Jane Austen (d) John Milton
Find out he correct sentence — [Ans: d
(a) I informed the police of the matter (b) I knew the police of the matter
(c) I informed the matter of the police (d) I informed the matter to the police
Which one of the following word is verb? [Ans: c]
(a) Misleading (b) Enticingly (c) entice (d) Entomb
Sumon is negligent — attending his class. [Ansic]
(a) about (b) with (c) in (d) for
Change the sentence into passive-‘Who opened the door’? [Ans: c]
(a) By whom was the door be opened? (b) Was the door opened by whom?
(c) By whom the door was opened (d) By whom was the door opened?
He was astonished my courage. [Ans: d]
(a) with (b) to (c) in (d) at
I shall adhere by plan. [Ans: d]
(a)in (b) out (c) for (d) to
No body pays him due respect, ——? [Ans: b]
(a) did they (b) do they (c) did anybody (d) does he
What part of speech is the underlined word of the sentence: I am a university student? [Ans: c]
(a) adverb (b) pronoun (c) adjective (d) noun
One should be careful about — duty. [Ans: d]
(a) his (b) her (c) their (d) one’s
I got my car : [Ans: b]
(a) repairing (b) reparied (c) have reparied (d) to be reparied
Do you enjoy teaching? The underlined word in this sentence is — [Ans: a]
(a) a noun (b) a participle (c) a gerund (d) an adjective
Are you eating sugar? Yes ] ——. [Ans: b]
(a) do (b) am (c) eat (d) eating
What is the antonym of honourary? [Ans: a]
(a) salaried (b) literary (c) honorable (d) official "
The correct meaning of a bird’s eye view is— [Ans: c]
(a) false hope (b) false story (c) a cursory glance (d) eye witness
She has been on a diet — three weeks. [Ans: b]
(a) from (b) for (c) since (d) about
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bstitute for "that which can be understood"? [Ans: b]

Which of the following is the single word s;

(a) inserntable (b) intelligible

Which one of the following words means ool (c) illegible (d) insatiable —
(a) glossy (b) cute (c) courteous (d) harmonious |
Which of the following words is an adverb? [Ans:d]
(a) lonely (b) homely (c) lovely (d) quickly
All that glitters — [Ans: d]
(a) are not golds (b) are not a gold (c) is not a gold (d) is not gold
You should have done this —you? [Ans: a]
(a) Shouldn’t (b) Haven't (c) Didn’t (d) Shan’t
He spoke as if he — a leader. . [Ans: d]
(a) am (b) is (c) are (d) were
I prefer tea coffee. [Ans: 2]
(a) to (b) with (c) than (d) on
Which of the following sentence is the correct translation of “Sf (SrafRE I201 COT"? [Ans: a]
(a) I thought your book (b) 1 thought yours book (c) I thought the book yours (d) I thought the book your
I could not make —— What he said. [Ans: d]
(a) in (b) on (c) off (d) out
The doctor has — the pulses of the patient. ' [Ans: d]
(a) seen (b) measured (c) counted (d) felt
=iy & T3, 97 2SR @I ? [Ans: d]
(a) What I go? (b) Am I go? (c) What do 1 go? (d)Dolgo
The antonym of exotic is — [Ans: a]
(a) Native : (b) foreign (c) immigrant (d) rural
Which of the following sentences is correctly worded? [Ans: a]
(a) The wage of sin is death (b) The wages of sin are death
(¢) The wage of sin are death (d) The wages of sin is death
The passive form of Are you doing the sums’? is— [Ans: b]
(a) Do the sums being done by you (b) Are the sums being done by you
(c) Are the sums being do by you (d) Are the sums doing by you
The synonym of ‘kind'is — [Ans: c]
(a) mereful (b) cooperative (c) sympathetic (d) cruel
Choose the appropriate preposition to fill up the blank in the sentence'l called — him at his office. [Ans: a]
(a) on (b) after (c) about (d) for
Which one is an adjective? [Ans: c]
(2) badly (b) quickly (c) lonely (d) wholly
Come and go is — [Ans: b]
(a) simple sentence (b) compound sentence  (c) complex sentence (d) all of the above
Which one of the following words has one meaning singular and a different meaning in plural? [Ans: a]
(a) advice (b) bank (c) beauty (d) protection
A verb that is active in form but passive in sense is known as — [Ans: d]
(a) causative (b) inchoate verb (c) reflexive verb

(d) quasi- passive verb

| EON-TErE frst e D —
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I still have ___ money in my pocket. [Ans: c]
(a) a few (b) few (c) a little (d) many

Did you get an invitation ___ the party? [Ans: b]
(a) for (b) to (c) about (d) at

The correct passive of: “Who can do it?’ [Ans: c]
(a) By whom can it be do? (b) By whom can it be did?

(c) By whom can it be done? (d) By whom could it be done?

Heis ___ honours graduate. [Ans: a]
(a) an (b) the (c)a (d) no article

‘All at once’ means- [Ans: b]
(a) Quickly (b) Suddenly (c) Slowly (d) Gradually

Which of the following is the correct sentence? [Ans: c]
(a) He was so clever to miss the point (b) He was too clever to miss the point

(c) He was too clever to grasp the point (d) He was to clever not to miss the point

Karim would rather ____a Pepsi than a beer. [Ans: a]
(a) have (b) had (c) has (d) having

Identify the correct spelling. [Ans: b]
(a) Equilebrium (b) Equilibrium (c) Equalibrium (d) Equalbrium

He is devoid ___ common sense. [Ans: d]
(a) to (b) in (c) with (d) of

The man divided his lands ____ his sons. [Ans: a]
(a) among (b) between (c) with (d) for

The correct passive form of "You must shut these doors" is— [Ans: d]
(a) These doors must be shut by you (b) Shut you must these doors

(c) These doors you must shut (d) These doors must be shut

Hurry up___ you will be late. Fill in the gap with appropriate conjunction: [Ans: c]
(a) and (b) but (c)or (d) nor

What is the correct use of verb: I wisk 1 (be) a king. [Ans: d]
(a) would be (b) was (c) could be (d) were

At a loss means— [Ans: a]
(a) Puzzled (b) Defeated (c) Loser (d) Utterly lost

The synonym for 'Typical' is— [Ans: b]
(a) Special (b) Common (c) General (d) Exceptional

The drama 'Arms and the Man' is written by: [Ans: c]
(a) William Shakespeare (b) T.S. Eliot (c) G.B. Shaw (d) Harold Pinter

Which one is wrong sentence mentioned below? [Ans: b]
(a) John came here yesterday (b) Bad news make Daisy panic.

(c) He came to the university to collect the admit card for the admission test.

(d) He goes to the English club once a week.

His attitude was highly appreciated. What is the part of speech of the underlined word? [Ans: c]
(a) adjective (b) verb (c) noun (d) pronoun

Fill up the blanks using modals: He ___ swim every morning when he was in the village [Ans: d]
(a) need not (b) had better (c) dare (d) used to

The phrase 'Achilles’ heel' means [Ans: b]

(a) A serious point (b) A weak point

(c) A serious idea

(d) A permanent solution

. -t e e T
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(a out lateness (
b) Recent] [Ans: b]
i th imi « y ’
Pick up the best simile for “Ag white ag " (c) Too late (d) Delayed
(a) snow b
‘philology’ (b) paper ) [Ans: a]
ls dgy fmeans- (c) ice (d) cream
a) Study of Educati .
( z ; ty — 1or'1. (b) Study of Languages  (c) Stud o [Ans: b]
The determuiner 'some' is used before---nouns tudy of Religion (d) Study of Nature
(@) non-count (b) si ’ [Ans: d]
. ngula -con )
“She is used to ____early in the mo rfin : n:.flll (':oant (c) plural non-count (d) both count and non — count
(a) rise b) risingg - Fill in the blank of this sentence by using the right form of verb: A
Which of the following pairs bes kol (d) have risen {Las: Bl
‘ t : . .
EXHAUSTING REIUVINATINGrepresentS the relationship expressed in the following pair. [Ans: d]
(a) Pitiful: Miserable (b) Cruel: R
: Ruthless ine: Trritati : g :
william Shakespeare is a poet and d : (c) Vexing: Irritating (d) Disturbing: Soothing
Elizabethan P - poet and dramatist of- [Ans: a]
a) Elizabethan Pe ‘i Par C )
(2) _ _ riod (b) Romantic Period (c) Victorian Period (d) Modern Period
Which one is structurally correct sentence? [Ans: c]
(a) The doctor recommended the patient that he would take medicine in time
(b) The doctor recommended the patient that he takes medicine in time
(c) The doctor recommended the patient that he take medicine in time.
(d) The doctor recommended the patient that he will take medicine in time.
Which one is wrong sentence? [Ans: a]
(a) If he comes I will go there (b) If he came I would have gone there.
(c) If he came I would go there. (d) If he had come I would have gone there
Fill the gap with appropriate verb. If my father ---- me up, I will take the bus home. [Ans: a]
(a) doesn’t pick (b) don’t pick (c) would pick (d) didn’t pick
[Sr% Aare: 2058-05¢]
Which one among the following is the single word for “one ho rules at his own sweet will”-? [Ans: d]
(a) Bureaucrat (b) Democrat (c) Aristocrat (d) Autocrat
carest to the meaning of ‘Conclude’? [Ans: d]

Which word-group among the following is 1
ph (b) reach the end of a written matter

(a) set forth the last paragrd ) -~ ) .
() give a verdict on the quality of an €assy (d) arrive at 2 belief or opinion about a matter after discussion

Identify from among the following the correct transiation of S Jif AP — ‘[Ans: d]
(a) My home is at Barisal  (b) My house is at Barisal (c) I Come from Barisal  (d) I have come from Barisal

13 99 1 _ [Ans: d]
J cheap — Here the word “Japanese” 15 @ . - v
sl ’ (b) demonstrative adjective (C) distributive adjective (d) proper adjective

(a) possessive adj ective [Ans: a]
. . t —

\(N)h;ch hse;‘;erfltc; ;:rzr;i(;me (b) He left pefore I had come () He had left before I had come (d) He left before I came

a) he had left- [Ans: d]
A personal letter has — (b) four parts (c) five parts (d) six parts _
i .- te phrase from below €0 1l in the blank in “He is — English”” and fill in the circle [Ans: d]
?)lofo.se thz app:;f:a ’ (b) strong and stout (c) at one’s finger'send (d)at home in

a) fair and squ . » e . Ans: ¢
Boys play is the field - Here the word “Boys™ 13 in the . - L 1
@ ; ®) objective case (c) possessive case (d) nominative case

a) vocative case [Ans: b]

adire . t of — )

William Word Wor.th dl e (b) Romantic period (c) Victorian period (d) Modern period
(a') Ijazabethan per'ltclJ] the appropriate word of the sentence. He got used to — cricket in the morning. [Ans: d]
Fill in the blank Wi (b) to play (c) played _\ (d) playing

@Play T SN-STHE B AR
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Fill in the blanks, All my —— left me. [Ans: a]

(a) Kith and kin (b) friends and relatives  (c) enemies and friends  (d) beloved flowers

“To pay lip scrvice to someonc is to — [Ans: d]

(a) remain faithful (b) pay careful attention  (c) attach on value (d) show only outward respect

‘He was all alone when | saw him’ In this sentence the word ‘all” is — [Ans: d]

(a) adjective (b) verb (c) Noun (d) Adverb

The corrrect antonym for grienence is — [Ans: b]

(a) distrerss (b) happiness (¢) discomfort (d) peace

The spelling is — [Ans: b]

(a) descipline (b) heutenant (c) testurant (d) committe

Which one of the following sentences is incorrect? [Ans: b]
(a) He was always arguing with his brother (b) His failore resulted for lack of attention

(c) We joined a quite fabulous outing (d) who was the boy you were all laughing at?

A Person who is always dissatisfied is called — [Ans: c]
(a) felen (b) beretic (c) malcontent (d) dejected

State in which the few govern the many is — [Ans: a]
(a) Oligarchy (b) Morarchy (c) Plutoeracy (d) Autocracy

Fill in the blanks. The examination starts at 10 :30 . You — go now or you will be late. [Ans: b]
(a) should (b) had better (c) might (d) would

Fill in the translation of ‘SR STNTSE FeAHIR’ [Ans: c]
(a) The terorists are the back-day in our society (b) The terrorists are the black-day of our society

(c) The terorists are the black —sheep in our society (d) None of this

The correct synonym for ‘bigotry” is — [Ans: a]
(a) intolerance (b) arrogance (c) mourning (d) egotism
The corrrect spelling is — [Ans: a]
(a) collateral (b) colateral (c) coilateral (d) colateral

“White elephant’ means — [Ans: d]
(a) An elephant of white colour (b) A hoarder (c) A black marketer  (d) A very troublesome possession
Choose the correct sentence — [Ans: b]
(a) The train is running in time (b) The train is running on time

(c) The train is running to time (d) The train is running by time .
Fill in the gaps of the sentence. ‘His honesty cannot be — [Ans: c]
(a) Taken into account (b) brought to light (c) called in question (d) ignored at all

‘Speed money’ means — [Ans: d]
(a) black money (b) percentage of interest (c) hard - earned (d) bribe

Fill in the blanks. Before the plane takes —, passengers must — their seat belts. [Ans: d]
(a) of, tight (b) off, tighten (c) up, tightened (d) off, fasten

Fill in the blank. By the middle of the 21* century, The computer — necessary in every home. [Ans: d]
(a) become (b) becoming (c) has become (d) will have become

Select the pair that best expresses a similar to that expressed in the original. “Cattle’ is to ‘fodder’ as ‘Fish’ js-

(a) hay (b) insect (c) tube (d) plankton [Ans: d]
The translation of * SIS T (RO AT I is— [Ans: b)

(b) We could not but laugh

(a) We can not to laugh
(c) We laughed and did nothing else (d) We did nothing but laugh
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Which one is correct sentep oy [&fE b P §o58 S

6l.
arim preferrede read;
(®) Em - Llr(‘l-r-ul(, r("""'”i'. o writing , [Ans: a]
(c) Karim preferred reading 11y, 4, Write (h) Karim preferred 1o read than to verite
62. Choose the word OPPOS|) Eoin meaning t (d) ¥arim preferred to read than writing
(a) Unity (h) g./,,m:”. O the word ‘Integration’ - (s d]
’ ‘ 25ig - | ANS:
¢3. Choose one which can be substituted fog (1, (¢) Linking, (d) Fragmentation
(a) Credible (b) Incredit lm glven sentence, “Ready to believe anything”, [Ans )
¢4. Three score is — e (¢) Credulou (d) Incredulous
(a) thirty times (b) three h ‘ [Ans: c]
5. The word “lucrative’ means. undred times  (¢) three times twenty (d) more than three
(a) good looking (b) attentive e _ [Ans: d]
¢6. ‘They were jealous —— him,” Choose the - : o IW (d) profitable
(a) of ’(b) c Se the appropriate preposition to fill up the gap. [Ans: a)
¥ e (¢)on (d) with
¢7. Find out the correct sentence
(a) Rahman is as tall as minc (b) Rahman i i ' [fins: ]
_ " § ) Rahman is tall as time (c) Rahman is as tall as 1 (d) Rahman is as tal} a5 me
¢8. Heis tc?o weak to walk. Complex form of the sentence js — [Ans:b]
(a) He 1s very weak nd so he can not walk (b) He is so weak that he can not walk
(c) He is not so Vf’eak that he can walk (d) As he is not very weak he can walk
69. Can.dle In The wind was — Complete the sentence with following one. [Ans: c]
(a) invented by John Logic Baird (b) discovered by Alexander Fleming.
(c) written by Elton John (d) founded by Lord Reith
70. Choose the one which best expresses the meaning of the word ‘Irreverence’ [Ans: a]
(a) Disrespect (b) Cruelty (¢) Unkindness (d) Invalidity
I3 o1 Yforgw 7= P fedfmer
[Bf% A1 3058-305¢]
01, “S(IT O CFIG SETNCHS W+ (FIe°-Ae BTG AW (G ? [Ans: c]
(a) Save nine in a time stitch (b) A stitch save nine time (c) A stich in time save nine (d) None
02.  Fishy stands for — o living in af A sli LAas:a]
(a) like fish (b) fisher (c) animal living in after  (d) slippery
03.  www-@q ‘{jff a9t 57 ) ) ) [Ans: 2]
(a) word wide web (b) world women wealth  (c) world wide wide (d) web of world wide
0% Twishl King? [Ans: c]
. I'wishI——aking!? » (c) were (d) would
(a) am (PRt [Ans: b]
05, i 7 foidre == 57 '
Amicable @3 3 il (c) Independent (d) All
(a) Friendly (b) Hostile [Ans: c]
06. Choose the unerring sentence == (b) You were displeased by me
(a) You were displeased at e (d) You are displease for me
i for me . .o
i (c') \'(ou are d1splclaste;11e soentence Macbeth is atragedy of a man who was— with great qualities. [Ans: b]
+ Fillin the blanks In (b) empowered (c) privileged (d) endowed
(a) pssessed £} [Ans: a]
. arative) —
08. Heis as fast as a deer (cOMP (b) A deer is faster than he were (c) He is fast than a deer  (d) None
(a) A deer is not faster than he were [Ans: a]
ni : ‘ndirect form— , , ; '
9. Lsaid Do it < indiree (b) It is done by you, I said (c) Itis ordered by him to do that (d) None
(a) I ordered him to do that Ans:
0, L N 7 [Ans: b]
. Lose @g Noun [® (b) Loss (c) Lose (d) None
(a) Loos u ; 2 -
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Choose the uncerring sentence — [Ans: c]
(a) You were displeased at me (b) You were displeased by me
(¢) You were displeased with me (d) You are displeased for me
Fishy stands for — [Ans: d]
(a) tike fish (b) fisher (c) animal living in after  (d) slippery
Fill in the blanks in the sentence Macbeth is a tragedy of a man who was — with grreat qualities. [Ans: d]
() possessed (b) empowered (c) privileged (d) endowed
Lose 99 Noun f&? [Ans: b]
(a) Loos (b) Loss (c) Lose (d) None
Amicable @3 fR71As =% 2 [Ans: b]
(a) Friendly (b) Hostile (c) Independent (d) All
I said Do it @9 indirect form — [Ans: a]
(a) 1 ordered him to do that ~ (b) It is done by you, I said (c) It is ordered by him to do that (d) None
He is as fast as a deer (comparative) — [Ans: a]
(a) A deer is not faster than he were (b) A deer is faster than he were (c) He is fast than a deer (d) None
I wish I — a king? [Ans: c]
(a) am (b) was (c) were (d) would
‘TG WA W 4 — @3 ZCAE SEm 52 [Ans: a]
(a) The man seems 1o be rich (b) The man seem to rich (c) I the man is rich (d) The man would seem to be rich
FET I (TG SN 7 (TG -9 TG @7 (@62 [Ans: c]
(a) Save nine in a time stitch (b) A stitch save nine time (c) A stick in time save nine (d) None
53 (SBRMI 8 wffie e Regfmtem
[ At 205t-3059)]
We are improving the in many ways. [Ans: b]
(a) curricular (b) curriculum (c) central (d) circular
Look forward to from you soon. [Ans: c]
(a) listen (b) hear (c) hearing (d) learn
His speech as well as his manner objectionable. [Ans: c]
(a) did (b)is (c) are (d) were
It was warm, so | on my sweater. [Ans: d]
(a) put on (b) put away (c) put down (d) put off
Reza is crazy about reading history books. [Ans: d]
(a) a (b) an (c) the (d) zero article
In the past women were deprived — [Ans: b]
(a) of there basic rights (b) of their basic rights  (c) from their basic rights (d) from there basic rights
Candidates endeavour to pass the test. [Ans: a]
(a) hard and fast (b) hand to mouth (c) tooth and nail (d) hue and cry
Do you know ? [Ans: a]
(a) who he is and what his name is (b) who is he and what is his name
(c) who he is and what is his name (d) who is he and what his name is
You have had your dinner and —— [Ans: b]
(a) neither have I (b) so have | (c)sodol (d) neither do I
Animals love and care. [Ans: 2]
(a) should be treated with (b) should not be treated with

(d) should be treat with

L S s T

(c) should treat with
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1. We are getting used to

(a) speak English (b) speaki _ [Ans: b]
peaking Englist U . .
;2. Deforestation is contributing alarming] £ . (.C) Epsekingienglish (d) write English
(a) for N gly ____ the extinction of wild lives. [Ans: d]
13 Environmental pollution \(Ni:: t : _ (c) by (d)to
. — Wwith a view to saving livestock. [Ans: c]
(a) must prevent (b) must be pr
A renowned Vet said th < prevent (c) must be prevented (d) must be preventing
14. et id thathe ___ a good number of people the previous day. [Ans: d]
motivate !
®) . (b) motivates (c) was notivated (d) had motivated
5. ___lwentto university.
Having had b [Ans: a]
(a) Having had breakfast  (b) Having have breakfast (c) To having breakfast ~ (d) To be had breakfast
16. Most students don’t like homework, and __. [Ans: d]
(a)1 don’t too (b) either don’t () neithr don’t 1 (d) neither do 1
17.  Would you please remind me ___ the book before the expiry data? [Ans: c]
(a) of returning (b) for returnirig (c) returning (d) to return
18. He’ll give youacall as soonashe . [Ans: b]
(a) will arrive (b) arrives (c) is arriving (d) is going to arrive
19. We’re going to have our house ___ . [Ans: a]
(a) painted (b) painting (c) being painted (d) paint
20. Though cats are known for being unfriendly, most of the cats I know are __ and . [Ans: d]
(a) lovely, ugly (b) skillful, furry (c) strong, athletic (d) kind, gentle
21.  Let’s go home—7? [Ans: c]
(a) won’t we (b) shan’t we (c) shall we (d) don’t we
22. Heis a very difficult person to get : . . [Ans: a]
(2) in with (b) up with (c) on with (d) out with
23.  You had better — or you will miss the bus. . ' [Ans: a]
(2) hurry (b) hurried (c) hurrying (d) hurries _
24.  The noun form of ‘do’ is : . N [Ans: a]
(a) deed (b) does (c) did (d) done
25. They spent — time considering the new contract. [Ans: d]
b) too (c) few (d) much
(a) many (b) L [Ans: c]
26. Only after graduating from 2 public university— :
i he does Ph. D d) he didn’t do Ph. D
(a) he did Ph. D (b) did he do Ph. (C) e aoe ( )

27. Father said that he — on my twentieth brithday. ) [Ans: c]
(2) will give me a digital camera (b) has given me a camera

() would give me a cam era (d) had give me a camera

. Ans: d]
28. An meeting 1s — next Sunday. . . [
(a) ;:i;gf: ;};ld (b) going to be hold (c) going to be hold (d) going to be held
29. A good number of animals are about {0 be extinct now. It is time we : [Ans: a]
(a) protected them (b) protect them (c) have protected them  (d) are protecting them
30. 1have : [Ans: b]
(a) talked to my near and dear ones in telephone. (b) talked to my near dear ones over telephone.
S0 0T nce over telephone. (d) talk to my and dear ones by telephone.

(c) talked to my near and dear 0
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Most student don’t like homework, and — [Ans: a]
(a) neither do I (b) I don’t too () neither don’t 1 (d) either I don’t
Counld you tell me what time ? [Ans: c]
(a) is it (b) is (c) itis (d) has it
Which of the following words is closest in meaning to the word ‘indigenous’? [Ans: b]
(a) Foreign (b) Native (c) Local ‘ (d) Remote
He is not ashamed his conduct. [Ans: c]
(a) for (b) with (c) of (d) on
The book you see — on the table belongs to me. [Ans: b]
(a) laying (b) lying (c) lay (d) laid
One day, Mila in the garden when she saw a man coming toward her with big dog. [Ans: b]
(a) walked (b) was walking (c) had walked (d) walks
Do not let the teacher catch you [Ans: a]
(a) cheat (b) cheating (c) to cheat (d) cheated
I have — a beautiful movie. [Ans: a]
(a) just seen (b) just saw (c) only saw (d) just been seen
A massive typhoon in philippines killed ten thousand people and — half a million. [Ans: c]
(a) misplaced (b) dismantled (c) abandoned (d) displaced
How have you all these years? [Ans: a]
(a) been (b) be (c) were (d) there
TS PRI 20532059
Chose the word or phrase (A, B, C, D) that best completes the sentence.
Ball-point pens require than fountain pens do. [Ans: d]
(a) the thicker the link (b) an ink and thicker (c) a thicker irk (d) the ink is thicker
Microscopes make small things appear then [Ans: d]
(a) really (b) are really (c) are they really (d) they really are
People aeroplanes nowadays. [Ans: a]
(a) are used to seeing (b) were used to seeing  (c) have been used to seeing (d) used to see
I wishI _acar. [Ans: d]
(a) have (b) shall have (c) have had (d) had
The woman _ was old and bent. [Ans: d]
(a) I spoke to her (b) that I spoke (c) whom I spoke (d) I spoke to
Veterinary doctors are becoming popular [Ans: a]
(a) day by day (b) by day (c) day in day out (d) all the day
Karim had his car __ by a mechanic yesterday. [Aus:c]
(a) to repair (b) be repaired (c) repaired (d) repairing
The antonym of alienis _____ . [Ans: c]
(a) immigrant (b) near (c) native (d) exotic
You’ve gotabook, 7 [Ans: d]
(a) aren’t you (b) isn’t you (c) have you (d) haven’t you
The verb from of the world ‘social’is _ . [Ans: b]

(a) society

(b) socialize (c) sociology (d) societ
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Chose the world or phrase (A, B . 1) t fé Wiobb-}o")b,]
A o » B, €, D) that bes )
Nearly every aspect of cconomic life s u“‘cctlcdtgt completes the sentence
(a) they are seasonal variations g ——-—(b) " [Ans: d]
variations arc scasonal

(¢) that scasonal variations
(d) seasonal variations

____inhistory when remarkable progress
(a) Periods El:)cTr;;OH Clss. was made within a reltively short span of time. [Ans: c]
"oug 11 .
Ry geandeetier ot whew T e 1ghout periods  (c) There have been periods (d) Periods have been
(a) never went (b) never [itpsihl
goes ;
We a test when the lights went out (c) was never going (d) never used to go Ans:]
(a) were doing (b) have done i e
My uncle is the best story-teller (c) are doing (@) do [Ans: b]
a) than I’ve ever met ) Iy y ne:
(a) W e (b) I"ve ever met (c) that I never going (d) that I’ve ever met him
The lion has long been a symbol of strength, power and [Ans: c]
a) cruel =Y '
(a) crue o (b) be cruel (c) cruelty (d) being cruel
The world ‘replicate’means , [Ans: a]
(a) 1:cpr0duc<.: (b) join (c) reside (d) coexist
Sania____misses and opportunity to play in the tennis touranaments. [Ans: b]
(a) hardly never (b) hardly ever (c) ever (d) ever hardly
Hummingbirds are the only birds ___flying backward well as forward, up , and down. [Ans: d]
(a) able (b) able to (c) capable for (d) capable of
I don’t tennis and my brother . [Ans: d]
(a) neither (b) doesn’t either (c) also (d) either

s

Chose the word or phrase (A,B,C,D) there best complete the sentence:

They asked me . [Ans: c]
(a) what did happen yesterday (b) what has happened yesterday
(c) what happened yesterday (d) what was happened yesterday
I suggest that he to the doctor immediately. ) [Ans: b]
(a) go (b) has gone (c) went (d) goes
A good students must know, ‘ [Ans: b]
(a) to study hard (b) how to sutdy effectively (c) how to study hardly (d) to study hardly
Some bacteria are extremely harrmful, but ___are regularly used in producing cheeses and many other foods.
(a) another (b) the others (c) another’s (d) others [Ans: b]
Mr. Sarwar is a noted chemist___- ' [Ans: a]
(a) as well an effective teacher (b) and too a very efficient teacher
(c) but he teachers very good in addition (d) however he teaches very good also
Ans:

She takes _her mother. _ [Ans: c]
(a) on ’_ (b) before (c) after (d) against
If you like this new dress I’ve bought, ___it to you- o : [Ans: ¢]
(a) I'll have given (b) ’ve given (c) I'll give (d) 1 gave

ST i Ans:
He asked me what I if I’ d been him. ' _ [Ans: c]
(a) A was saying (b) had said (c) would have said (d) said
Neon is said to be inert does not react casily with other substances. [Ans: b]
(a) because of it (b) because it (c) it is because (d) is because it

_ stems and roots. [Ans: b]

Mint contains aromatic oils . o
(b) is its leaves (c) are is its leaves (d) they are is its leaves

;S s TS

(a) its leaves
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What is the synonym of the word 'Project'?

(a) idea (b) guess (c) scheme (d) job

What is the opposite of ‘Yellow Dog’?

(a) great man (b) unkind man (c) hopeless man (d) foolish man

Mention the passive voice of ‘His conduct pleases me’

(a) I am pleased by his conduct (b) I am pleased with his conduct

(c) I am pleased at his conduct (d) I am pleased at his behaviour

The word admire means—

(a) despise (b) appreciate (c) criticize (d) worldwide

I know nothing regarding this matter. Here regardingisa_____

(a) Gerund (b) Preposition (c) Apposition (d) Conjunction

Which pair of prepositions will be appropriate in the gaps: John is senior___me___4 years.

(a) than, by (b) than, for (c) to, by (d) to, for

Which one is singular?

(a) data (b) mitochondria (c) focus (d) fungi

What is the synonym of the word Tenacity?

(a) Ingratitude (b) Tendency (c) Perseverance (d) Splendour

He persists______ a noise.

(a) to make (b) in making (c) from making (d) to making

I’m sure I locked the door. I clearly remember _____it.

(a) to lock (b) to have locked (c) to be locked (d) locking
[ He

Select the correct sentence.

(a) The students wiil take the admission test (b) the students will gieve the admission test
" (c) The students will attend the admission test (d) The students will present the admission test
Faculty of Agriculture was established with a viewto . Agricutural Education in Bangladesh.
(a) Impart (b) Imparts (c) Imparting (d) imparted
Mention the passive voice of following sentence-“Don’t neglect the poor.’
(a) Let the poor be neglected (b) Let not the poor be neglected
(c) Let not the poor neglected (d) poor don’t be beglected
Use approriate tag question of the following sentences. Everybody loves flower,...... ?
(a) Don’t they (b) Do they (c) Are not they (d) does not they
Which is the opposite of “Hybrid”?
(a) Purebred (b) Mixed (c) Simple (d) Productive
Choose the corrcet spelling. -
(a) Volunter (b) Voluntear (c) Volanter (d) Volunteer
“Felicitation” means-
(a) Expression of good wish (b) To conduct something (c) Reading books (d) Feeling bad
‘Block Head’ means-
(a) Stupid person A ql}ite person (c) Clever (d) A dangerous person
Translate T© (¥ I I, ©© T FHI |
(a) More you talk, less you understand (b) The more you talk, the less you understand
(¢) They much you talk, the less you understand (d) The more you speak, the less you underst
. and
‘The English’ Means-
(a) The English language (b) The English Speaking countrieg
(c) The English literature (d) The English people

[Ans: c]
[Ans: b]

[Ans: b]

[Ans: b]
[Ans: b]
[Ans: c]
[Ans: c]
[Ans: b]
[Ans: b]

[Ans: c]

[Ans: a]

[Ans: c]

[Ans: b]

[Ans: a]
[Ans: a]
[Ans: d]
[Ans: a]
[Ans: a]

[Ans: d]

[Ans: d]
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(a) Criticize (b) Com _ [Ans: a]
77, Chosse the correct spelling- mend (¢) Mention (d) Entrust
(a) Personel (b) Personn [Ans: b]
1
23. Which one is the antonym of the world “;ANDOM”') (c) Parsonnel (d) Personale
(a) Chance (b) Haphazard . - , [Ans: d]
o4, Disaster is not related to the word- () Unsystematic (d) Systematic
a) Cyclone [Ans: d]
® i 4 . . (b) Flood (c) Tornado (d) None of these
25, Which is the opposite of “Hybrid”? A ]
ial S:
(&) Specia e (b) Super (c) Productive (d) Purebred
26. Instead of ‘continue’ which world may be used? [Ans: ¢]
(a) Carry out (b) Carry Of (C) Carry on (d) Can,y away
97, Select the correct sentence- [Ans: d]
(a) He %S confident to get a scholarship. (b) He is confident of get a scholarship.
(c) He is confident to getting a scholarship. (d) He is confident of getting a scholarship.
28, All citizens__t}%eir taxes. [Ans: b]
(2) Should be paid (b) have to pay (c) must be paid (d) would be paid
29, Select the right sentence. [Ans: ]
(a) The doctor fell the pulse of the patient. (b) The doctor feel the pulse of the patient.
(c) The doctor fell the pulse of the patient. (d) The doctor saw the pulse of the patient.
30. “Out and out” means- [Ans: c]
(a) Far away (b) Superficially (c) Completely (d) To avoid anything
31, Aquaculture is art of growing planta & animals- ’ [Ans: d]
(a) in pond (b) on soil (c) in laboratory (d) in water
32. He advised me smoking . N [Ans: c]
(a) giving up (b) in giving up (c) to give up (d) from giving up '
33. In order to improve farming methods, we need__ o . [Ans: c]
(a) machine (b) machinery (c) machineries (d) a machinery _p
34, ‘Bibliography’ means- , Lige hist (&) Collection of books LAns:
(a) History of books (b) Book of biology (c) Lige hstory -
35. BARC means_ _ , :
(a) Bangladesh Advancement Rural Committee (b) Bangladesh Agricuitural Research Cou.ncﬂ
desh Agricultural Research Committe (d) Bangladesh Academy for Rural Council
36 gf?l B:Jn'gla esty prirfessors will the answer scripts of the admission test. [Ans: c]
. e Universi —_—
¢) Look over (d) Look out
37 (® Look afer 1ling: ® ook © [Ans: d]
(et c.oxrreCt spetin® (b) encyclopidia (c) encylopidiea (d) encyclopedia
(a) enchclopidiea RN ‘ [Ans: d]
38 . sy7e] (AT &% @ TR . . :
Trans?ate.' ) f?ning (b) It has been raining form morning
(a) It is raining from mo g (d) It has been drizzling since morning
¢) It is drizzling since M )
39 i)) ‘: 1z:olwi your enemy— 4% A S [Ans:b]
g SO ROLER <1051 7 G (©) I T GGl T 1 (d) 2P0 ©F (18 =1
1 (b) *F®
(a) Fapey e g @8 CAus: bl
40.  Move or dic (Make it simple) :

(a) You shall move t0 die

i (c) If you don

(b) In case of your failure to move you will die.

A d) You will to move to die
die (
’t move you Wlll

[LLtiaa S SN | =,
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41. Select the word to fill in the sentence: He died diarrhoca. (d) by -l ‘
(a) for (b) of (c) from [Ans: q

42, Identify the correet passive form “open the window™
(a) The window should be opened.

(b) Let the window be opened.

(d) The window must he open.

(c) Let the window be opened by you. i .
43.  Fill up the blank with :lplpmpri:1lyc)|,n'cposiIion. How did you come the watch .’d ; [Ans; b]
(a) \\’itl} (b) by (c) on (@)o [Ans:
44.  Obnoxious means- (d) Very unpleasant
(a) Very dangerous (b) Very plcasant (c) Very ugly [Ans:
45.  What is the synonym of “Incredible” J) Unthinking ¢l
(a) Unthinkable (b) Unlikely (c) Unbelicvable (d) Are
46.  Antonym of the world “sluggish” is- [Ans: b]
(a) Decrease (b) Animated (c) Dull (d) Heavy
47.  Select the correct sentence. . .[Ans: b]
(a) He is fomous not only is bangladesh but also in USA.  (b) He is not only famous in Bangladesh but also in Usa,
(c) He is not famous only in Bangladesh but also in USA. (d) None is correct.
48.  Fill in the blank with correct preposition- ‘You are junior me ten years. [Ans: b]
(a) of, in (b) to, by (c) to, for (d) from, of
49. 7SS FI6T DA AT R SR (FIAD? . [Ans: c]
(a) He is bad in Mathematics (b) He is foollish in Mathematics
(c) He is weak in Mathematics (d) He is raw in Mathematics
50. Fill in the blank—
He __ arrested if he had tried to leave the country. [Ans: c]
(a) might be (b) could be (c) would have been (d) must be
ST “HAr%T; 2030-305
51. The word ‘shun’ refers- [Ans: b]
(a) Call (b) Avoid (c) Enmity (d) All
52.  Which of the following will take ‘a’ before it? [Ans: d]
(a) FR.C.S (b) M.Ed (c) LM.F (d) B.Ed
53. What is the verb of the word ‘Ability’? [Ans: b]
(a) ableness (b) Enable (c) Ably (d) Able
54.  Which one is the correct synonym of ‘Hospitality’? [Ans: d]
(a) Pharmacy (b) Sick (c) Hospital (d) Welcome
55, Which is the noun of the word ‘Vary’? [Ans: 2]
(a) Variety (b) Varian.cc (c) Very (d) Varibalbe
56. Fill in the blanks with the most appropriat preposition ‘The dog jumped —the wall and went-our reach’ [Ans: b]
(a) over, behind (b) over, beyond (c) on, beyond (d) with, behind
57. Select the correct sentence- ‘ ’ [Ans: ]
(a) Walking towards th{: lcft’l f(?und th(’. sh‘op. " (b) While I walked towards the left, I found the shop.
(c) T found the shop while walking towards the left. (d) When I turned left, I found th h
58. Which one is singular number? e shop. d
(a) Mumps (b) Billiards (¢) Gallows (d) Ethi [Ans:
59. a7z A o e @2 amafba i defn - | S .
(a) This book I am looking for. (b) I am booking for this - [Ans: ¢
(c) This is the book I am looking for. (d) The book which | a1 k'. e
60.  “dmy ferreram ey Fafermt et adme Zemfe- O0King for is this. |
[Ans: 2

(a) This agricultural education is inevitale for food security,
(b) Agricultural education is necessary for food security,

(c) Education of agriculture is cssentiafl for food security,

(d) The agricultural education is unvoidable for food security,
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What is the antonym of 'Reveal™? o1 AT R059-303Y

(a) Diclose (b) Discover [Ans: d]

. (c) Expose
Change the speech of the sentence: I said to him "If I were yolv: I should wait" {6) Conees

(a) 1 told him that if I were yo . [Ans: c]
(c)1 advised him to wait, you, I should wait. (b) I advised him that I should wait, if T were you.
. d) I advised him fi iti
nplete the sent . ( im for waiting.
(Cac)noser ence usm(gb 2)1rt1 appropriate preposition: Mr. Alam had authority English language
0 —— .
Nelson Mandela is considered as a (c)for (d) on [Ans: d]
[Ans: a]

(a) emblem of peace and harmony (b) symbol of d i i
. estruct :
Change the voice: Never tell a lic. ruction (c) icon of love (d) epitome of democracy

; Ans: b
(a) Let DEVEr lie be tO]C}- (b) Let a lie never be told. (c) Let never a lie be tell.  (d) Let a lie be told never.[ :
'Love is nothing but i;‘°~¢1mgs'-Make the sentence interrogative. [Ans: b]
(=) Isn't love e feelmgsl? (b) What are the feelings of love?
(c) What a love and feclings? (d) How feelings are love?
He walked fast, ____he could not reach the hospital in time. Use the correct word to complete the sentence.
(a) however (b) yet (c) though (d) until
What is the synonym of "Vulnerable?' [Ans: c]
(a) Inflexible (b) Invincible (c) Frail (d) Impervious
Who is the writer of the poem 'The School Boy?' [Ans: a]
(a) William Blake (b) William Shakespeare  (c) D.H. Lawrence (d) W.B. Yeats
Complete the conditional: Had I seen him, I (tell) him the matter. [Ans: d]
(a) told (b) have told (c) had told (d) would have told
What is the meaning of the phrase “To break the ice’? ' [Ans: b)
(a) To end up partnership (b) To start a conversation (c) To end up the hostility (d) To start quarreling
Fill in the blank Credit the amount .......-- my account. [Ans: a]
(a) in (b) of (c) to (d) from |

e “We don’t like idle people’? [Ans: d}

Which is the right passive form of the sentenc N
(a) We are not liked by idle people. (b) 1dle people are not ({f our liking.

(c) 1dle people were not liked by us. (d) 1dle people are not liked by us. I
Choose the correct sentence-

(a) He speaks the English like the English. (b) He speaks the English like English.

(d) He speaks English like the English.

(c) He speaks English like English. (Ans: ]
:;ti)/r_ly.m of ‘Famaficism’ 15~ (b) Quilt (c) Doubt (d) Indifference e
ision ns:
. ite in meaning t0 —
ggr::lotus is most nearly Oppfbs)l ;om‘lal (c) Usable (d) Concrete -
re :
P . «govereign’?
\(Z)h:: Is 'the meaning of the W(Obr)dSubject (c) Loyal | (d) Supreme ruler -
I said pcna.l ‘ {one’. Find out the corzect indirect narration. -
(a)l1 a.ngnly, L'eave me a : 'a {55 (b) I totd hm? angrll)r to leave me alone
bt said to angrily to leave ml ” @1 asked him angrily to leave me alone. "
told angrily to leave me @ one. . ns:
ou if could.
Select the right form of verb: 1 (tosl‘lsli)lj’help (c) Shall help (d) Would have helped
(2) Would help (b) 51O [Ans: a)

: ¢ man died ....diphtheria- (©) at (d) from
B— 2 B i we
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21. The doctor suggests that the patient — the prescribed medicine. . el
(a) take (b) takes (c) has taken (d) will have taken
22. Having had her dinner— . [Ans: q)
(a) the girl goes to bed (b) the girl go to bed (c) the girl went bed (d) the girl went to bed
23, A good number of animals are about to be extinet now, It is time we— . [Ans: a)
(a) protected them (b) protect them (c) have protected them (d) are protecting them
24, Would you mind —-? ) [Ans: b]
(a) do me a favour (b) doing me a favour  (c) to do me a favour (d) to doing me a favour
25. They've lived in that house they were children [Ans: b]
(a) until (b) since (c) when (d) for
26. She called me — the telephone. [Ans: c]
(a) on () in (c) through (d) at
27. The sooner, — [Ans: c]
(a) The best (b) the worst (c) the better (d) the good
28. The synonym of 'legendary' is— [Ans: a]
(a) famous (b) fictitious (c) intelligent (d) legitimate
29, The antonym of 'fake' is— [Ans: a]
(a) authentic (b) false (c) spurious (d) unreal
30. Do you know what time— [Ans: d]
(a) is it (b) was it (c) has it (d)itis.
31. I suggest that he—to the doctor immediately. [Ans: a]
(a) go (b) has gone (c) went (d) goes
32. A good student must know—. [Ans: b]
(a) to study hard (b) how to study effectively (c) how to study hardly (d) to study hardly
33. Mint contains aromatic oils—steams & roots. [Ans: a]
(a) its leaves (b) is its leaves (c) are is its leaves (d) they are is its leaves
34. Choose the correct sentence: [Ans: c]
(a) Though it is raining yet he will go (b) Though it is rained yet he plans to go
(c) Though it is raining he will go (d) Although it had rained he will go
35. Which is the correct sentence: [Ans: ¢]
(a) The fact is true (b) It is a true fact (c) This is a fact (d) The fact is truthful
36. The definite article is— | . [Ans: d]
(a A (b) An (c) Comma (d) The
37. Select the correct spelling. [Ans: a)
(a) Melody (b) Malody (c) Melodi (d) Malodi
38. Whlc.h is co‘rrect? [Ans: b]
(a) Disentry (b) Dysentery (c) Descontry (d) Disentary
39. The man died — cholera. [Ans: b]
(a) by (b) from (c) of () with
40 I insist — your going there. ' Ans: d]
(a) at (b) with (c) for (d) on -
41. Anthropology relates to- ' Ans:
(a) medicine (b) child (¢) man (d) science :
- ————— ATT-TT T e e T — et
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0l. fﬁwfﬁ?ﬁ CIr ST AT e (52 [Ans: c]
(a) ferarea == (b) ZAIEN IR G
(c) 3R ¢4 (oA A (d) 2= TR ¢ 7B

02. 2001 I IETCT FIN ZAHBEOE Cxitaranet i frgfmmiema sl aw fof awa 9ot o @2
(a) 2TCemt femat (b) T (IR T [Ans: d]
() CIRRIET @ (F T 2T (d) &I cor T

03, elqmaar (<Y Y “Agent of Change” €32 “Planet 50-50 Champion” [ A& ¥ (FIF AT ? [Ans:a]
(2) 2016 (b) 2015 (c) 2014 (d) 2013

04, TAIF TS AGHA (PIAT SIA(ES? [Ans:d]

(2) 2T BIFR (TR SRR (b) BIF GRIFRAIGT () BIFR GTod MG (d) Gfed o) T AT
05. IS fortas wferas ReT o qee ciea™ 2eis e (675 Fifts (iis 35 T30t e Sew?  [Ans: d]

(@) 12 (b) 17 (c)18 (d)19

06. AT 242 AGIfs & f=rm? [Ans: b]
(a) G T&EPel 237N (b) I O G T (c) OISl SR (d) @ TP A FINFEAT

07. 2015 — 2016 =< IRCA AIEACACH SAfSTHCET A FS7? [Ans: c]
(a) 13.9 *ror* (b) 14.9 ¥ (c) 12.9 *roIet (d) 15.9 *[e1

08. T A @R =21 Wt FLp! (TS ZH? [Ans: c]
(a) 1965 (b) 1964 (c) 1966 (d) 1970

09. Ty wesy SeAWT IrETTAS- [Ans: ]
(a) T (b) OT (c) 8¢ (d) e

10. @35 afe gzl < w= wiE? [Ans: d]
(a) AT MRt (b) ©. 3T (c) ©I. TTEFHR (d) C R .

I e T T ? ns: a
(@) ﬁwmw (b) G0 (o) @ (d) R-GFPREIET

12, G v 8 CEEFRIC SIS Mg et fRT (e e’? [Ans: d]
(a) UNO (b) UNDP (c) UNICEF (d) UNESCO

3. IS JeAIoRA+CR 378 JIINCTH - [Ans: d]
(a) ferm (b) ST @z

14, wftew [Ans: c]
(a) 92f5 Gy (b) sSR! (c) Ty wfwe F5=T (d) T ST

5. e o sxaemt wcaCE (57 [Ans: c]
(a) et @TER (b) Pt @ TeT (c) GfFmaiE EIRNEG &< AEME (d) Ot RegRwrery

S-S e TR
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16.  seow fagatol f@rb 03¢ AN (@I S Zrafe?

(a) ETIT @ ST (b)mﬁmeﬁ@fﬁﬂw
(c) freferme o fermren (d) wifReet SHfEFT @ TSl

17. @ et e s € TS @D? Lnsal
(a) R 4 v3 (b) & 19 vo (c) fortt 4 (d) R TS

18. R w0 I3 wdtafos @b cemib? [Ans: a)
(a) European Union (b) WTO (c) United Nation (d) NATO

19. RIS Tarwa SqvRe @RIE S1aEe? LAns: ]
(a) ST (b) T (c) (e (d) TS

20. T @ (G AT A2 Figfs raez? ) [Ans: d]
(a) T (b) 35 (c) TEATET (d) = wrA

21, ‘oleBIE @ & i Em? | [Ans: ]
(a) (T 1R (b) CTIRR *12 () B <t (d) =zt 4

22. if¥Te @I Refion g M FToEm Q05¢ IR Sde 237 [Ans: b]
(a) GPIfset (b) wfE (c) fIezT<F (d) G

(S =R 2059-2038]

23, of: 3qifEw T9s afefrs geire &Ri? [Ans: b]
(a) Ff& zeToIrSIeT (b) TS () 51T (Tt Featst  (d) IR U3©

24, 3038 I FIF (P IO A FHICT HTAGH FAI? [Ans: a]
(a) e (b) SICEBT (c) Zoifey (d) &

25. @S 0 SATRE FTLS (F? [Ans:c]
(a) QR ST (b) AR =M
(c) *I<f T=A (d) GIF ©. Sifeges

26. DEMAT JI? [Ans: a]
(2) CTIR (FTATACAR SCATRGINP AT (b) CIIGR SETI
(c) I CoFat (d) 7 ¢RI

27, iidey *IfE §fE Trwe - (Aus: ]
() S559 (b) S55¢ (c) 3559 () S5

28. AT CFIN *ZR0S A% A [ caraelt vt =17 (Ans: 3]
(a) BB (b) TRy (c) Bees @ '

29. (A LIRS F© A 6F A?
(2) 3500 (b) 5503 (©) d503 @ 500 [Ans: b]

30. QI LY (@ TR v (08 s 16 ferreiie?
(a) ©IF© (b) *NfFB () TS 3o &) T2
[Note: TR 2N G55 fereiee fermiqas [

31, SNfHD T AN AL IAENCACN A1 T97?
(a) © T (b) © BT (c) & 5} [Ans:b]

(@ >3 51
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35, Theory of surplus value TG0 (& WA 4a=7? [Ans: b]
(0 T ()P (<) P () SIS e
33. e TS ST ¢ 0T SIFTA AR SlICan TS (R A7 e 72 —
@ (b) Ay (c) e (d) GETR 7% 7
", SagiT-0a R0 TH FEATAE SIS [Ans: d]
(a) 41 (b) T (c) A= (d) =1
35, SH3 TS Sifeed elaeareal T TaFE o1fde za? [Ans: a]
(a) S0 «fere (b) X¢ W6 (c) G 6 (d) s T
36, (R S AT reda FTe Sorranet 32 w1 zw? [Ans: ¢]
(a) (b) ife=zs (c) fere=t (d) Fifrey
37, e = @ ee? [Ans: d]
() A (b) A== (c) feTrenm (d) Frare
18, QI @ TR feSy =i Srar? [Ans: a]
(a) Freat feraw (b) Soffest (c) MIT T (d) T
39, ‘TN *TwE oY fH? [Ans: a]
(a) 7 Ok Ok&! (d) =ar
40. ‘GFIEER el g=Aba RS &7? [Ans: d]
(a) TT Z ‘ (b) T SRGM
(c) ST 3T (d) ST 2
41, OIS SR A ST T 7 [Ans: b]
(a) STFRF &A= (b) ferirs M
(c) FEwEtrga il (d) o 2R
2. JET € SRR ZAPOHEE i TECE (TR ST (R ? [Ans: a}
(a) fa9¥ e8 (b) Ra= ee (c) R4 @Y (d) faq= ea
43, WWW@WWWW [Ans: b]
(a) S¢ LI (b) b SCBRE (c) R0 SIH (d) R IR
4. ToRF (1Y IR TR B W (AT ST F© HAICET? [Ans: b]
(a) ¥>e8 (b) SpVY (c) Youb (d) ¥
45. WA RETEE @ (S S1Ee? [Ans: c]
(a) AR (b) Sgasite () FETEEs (d) Tfoam
46. ATt TS TR FHF! (NG ? [Ans: c]
(a) UNHCR (b) IFAD (c) UNEP (d) JAEA
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8. ST IAE A ST ey wrfre 22
49.  Afqersm efeoxw?
(a) B (b) 57 () R (d) A
50. SN I O w52
() @ (b) S (c) g (d) oS
Sl =or=E *=io [sidre *1 i
(a) Ao (b) ey () geir (d) S
52.  IETNS =R
(a) Riofem wsb Bifke 5% (b) 1T FBET GG TR fea
(c) @0 4Ita TS (d) JETICHR GFG TP
53.  IEIVeR R et 2o citzE-
(a) FISH (b) Sa=Tw (c) cor (d) [
54.  IETTCIR SORT ASTH A W97 [T (@7ett 2ovz—
(a) CTCRA= (b) ~ieiw Ok (d) =S
55.  CIRPIETDR 0o JAT—
(a) G BTF (b) itz 17 (c) &7 BIY (d) =TT 517
56. ANCEA AL ARG T
(a) JAT HITHT 24w RoEeifs (b) O TR
(c) S2awat (d) SO cemitze
57. @ AT IeeR R0 qe F18Tet e ar= T et grem-
(a) STAT TR (b) < SIS 2my
(c) CNfI™ Fem (d) *IT&T Tt Seatrag
58. LA I OGR! @R B ST Fa=-
(a) TG ¥ (b) 52 e
(c) T I (d) c=f coifaayy
59. Trol fredife SRl i 2R Okl AR IT— IR0
(a) 58 (b) 3 (©) 3t (d) 0
60. SIATISR AENTH FIFIER AT LANE! (& forem?
() THIF T IO T2 (b) SIS Sz
(c) IS5 TPTA ST (d) ST LT ooy sy
61. fofem 4R Te SGST ACT 0o & 2fiwrs T© e o1 Tald I 21?
(2) 05 (b) 8¢ (©) v @ ¢o
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[Ans:b]
[AnS:c]
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[Ans: ¢]

[Ans: b]
[Ans: b]
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(gmm ﬁﬁmmcmmmwmmwm7 [Aas:
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owreR (b) s¢ fewren (c) }¢ WG (d) 39 «fem
) 58@@-” T THRNET FOTH 2f3TEs? [Ans:c]
mT:;w (b) 89 SH (c) 88X (d) 8¢ =%
(a)wwmm ((1;)) Cﬂlili[l.‘iwnﬁmﬁﬁ
(©) et w@. oAV % [Ans: b]
g 24T ;
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(GRTRE (@I & T AT TS W
) ¥ UMY ©F S [Ans: d]
(aquczrwﬁﬁs‘ @ HEHET AATS smida B e T AR?
) : d
(a) AT (b) PRI ;ﬂ Wﬁi (& G -
vrat fReRmreE WWQ\Q @FH-AR TS TR (T@%ﬁm@ o
(a) BT (o) < [Ans: b]
TR QY (I (T TRFS? %
(&) BT (b) GRETSRTETS ORER (@ TP
il IR AR
ST AR 208" (Ans: a]
S T T — T
Wﬁmﬁm e -{Z?Zm e (c) 14 (@20 [Ans: a]
(a) 18
PTG (LR SIS I (& TF |
T?W{::@ﬂﬁ (b) C<IEA AL o, Tl (0) X R [Ans: ]
a) & 3, < <
AT T TS (o 72 S (d) TR T .
M o (b) T &S (©) % (A
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N L [Ang;
2w e et wa? (d) 23 Tl g
(a) 3¢ =B (b) 38 R (c) 8 e [Ans. g
SIS SIZTA A AP GFT M- o{ioe Fviae! 7 (d) PR
(a) A< &M (b) T T (c) S i [Ans: b b
AR TEALATS (I A FS? (d) FADE T
(a) FTC=TG-q2ETTT™ (b) TSAZ-FITE! (©) WW [Ans; ¢
fBfere <fTs S5 =5 w0 T 2w T o o1 T w1 27 @50 R
(a) 39 (b) 45 (c) 69 [Ans.y |
TET OIS >0t Al GO Fo? 7 (d) 80°C
(a) 70°C (b) 71°C (c) 19°C [Aus: g
GIIITRR 52 ARG wEFy FORTA? i T
(@) 70 (b) 80 (c) 100 @ '
IR TN R I SRT? [Ans: ]
(a) ST, MER  (b) O LA TR, TR (c) AR (& TFR
el el T RTYS? [Ans:t]
(a) PG -A1EETT (b) TEAG-TTe! (c) TSAME-FITET (&) ARG
www-a7 %4 Fot 57 [Ans:2]
(a) word-wide web (b) world women wealth (c) world wide wide (d) web of world wide
2w AR e T2 [Ans: b]
(a) S¢ S5 (b) 8 fewTem (0) >8 CFFI () *> T
IR A AN (IOl 572 [Ans: 3]
(2) I 1 (b) I &fe OREA (d) GBS g
G TR RF 99 AL (FIRT? | [Ans: d
(a) StfeveT, fEfrEa (b) ST w7, B
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T RIS SR e 205 Ol A I997— 209 5?2 [Ans: 2
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